(%13
£57)
607
5]
B&0)
(23]
bac)
606
(£0)
bG o)
[£a6)

605
604

Body Assembly

AME International
2347 Circuit Way
Brooksville FL 34604
Phone 352-799-1111 Fax 352-799-1112
sales@ameintl.net




No. ~ |Description _ lary

73200601 Body — | 7
73200602  |Swinging frame R
73200-603 ~Up pneumatic cylinder - '__:i
73200-604 _ Pneumatic cylinder shaft 12
73200605  |Shaft1 1 a
73200-606 ‘Motherboard of pneumatic corifrcﬂ_box 1
73200607  |Pneumatic control box 1
73200-608 |Spreading pneumatic cylinder 1
73200-609 Connection union B e |
73200-610 Adjustive pipe 1 1
73200-611 Short spread hook - 1
73200-612 Alignment unite element e ) | 2
73200-613 Lever unite element 2
73200-614 Power line bracket 1
73200-615 Staff shaft ___3_
73200-616 Long spread hook 1
73200-617 Adjustive pipe 2 1
73200-618 Swing Frame 2
73200-619 Branch Union 4
73200-620 Lever unite element 1
73200-621 Shaft 3 1
73200-622 Connection board | 4
73200-623 Short pulling pole ' 2
73200-624 Pulling Pole 1
73200-625 Up & down bracket 1
73200-626 Shaft 2 1
73200-627 Connecting-rod shaft 4
73200-628 Shaft 2 1
73200-629 Swing cover - 1
73200-630 Tools tray 1
73200-631 Column hexangular bolt M8x10 6
73200-632 Washer 8 6
73200-633 Ceasing nut M12 8
73200-634 Hexangular bolt M8x30 2
73200-635 Hexangular nut M8 7
73200-636 Washer 12 12
73200-637 Hexangular bolt  M12x40 8
73200-638 Ceasing nut M16 2
73200-639 Washer 16 ! 2
73200-640 Handle ball B-M10x32 2
73200-641 Coarse thread Hexangular flat bolt M10 2
73200-642 work light 1
73200-643 Hexangular flat bolt M10 1
73200-644 Compressing spring 2
73200-645 Column hexangular bolt M10x50 2
73200-646 Hexangular nut M12 8

AME International
2347 Circuit Way
Brooksville FL 34604
Phone 352-799-1111 Fax 352-799-1112
sales@ameintl.net



No. = Description ) . |ary

73200-647 Spring washer 12 2
73200-648 Column hexangularbolt ~ M6x12 4
73200-649 Spring washer _ B _ -§___ 1 2
73200-650 Air regulator - - ] _1
73200-651 Spring washer a '8 - :— 5
73200-652 Big flat washer 6 2
73200-653 Column hexangular bolt M5x16 2
73200-654 big flat washer 5 2
73200-655 Electron transformer - | 1
73200-656 Crossedsetbolt  M4x40 6
73200-657 Washer ' 4 | 12
73200-658 Handle valve - 2
73200-659 Spring washer 4 6
73200-660 Hexangular nut M4 6
73200-661 Washer 5 12
73200-662 Column hexangular bolt 7 M5x10 4
73200-663 Spring washer 5 2
73200-664 Hexangular nut M5 2
73200-665 Loop ’ 1
73200-666 Power thread 1
73200-667 Metal quick connector 1
73200-668 Shaft spring loop 20 14
73200-669 Washer 6 4
73200-670 Hexangular nut M6 2
73200-671 Column hexangular bolt M8x12 | 1

AME International
2347 Circuit Way
Brooksville FL 34604
Phone 352-799-1111 Fax 352-799-1112
sales@ameintl.net



B0
(I
719]

AME International
2347 Circuit Way
Brooksville FL 34604
Phone 352-799-1111 Fax 352-799-1112
sales@ameintl.net

704

138
702

702

737

Pneumatics Assembly

701

mn




No.  |Description ay
73200-667 N Metal quick_cjnnector - 1 &
73200-701 |Pneumatic Evliri-:E @g{__ - 2
73200-702 - pneumatic cvlinder canister 1
73200-703  [Cylinderbottom | 2
73200-704 Connecting staff m - 4
73200-705 Connecting staff _________ N —__ 4
73200-706 Washer . | 2
73200-707 Piston staff - 2
73200-708 Pneumatic culinder canister " 1
73200-711 0-Ring ] 2
73200-712 Washer 16
73200-713 Ceasing nut - 16
73200-714 PU pipe B 1 2
73200-715  |Dustproofseal 2
73200-716 PU pipe 1
73200-717 Quick insert union 1
73200-718 Metal quick connector 1
73200-719 PU pipe B 1
73200-720 Quick insert right angle connector 4
73200-721 PU pipe 1
73200-722 Union - 2
73200-723 Hexangular flat nut 2
73200-724 Piston - 2
73200-725 Column hexangular bolt __ 2
73200-726 PU pipe 1
73200-727 PU pipe 4
73200-728 quick insert middle union 1
73200-729 subminiature silencer . 4
73200-730 handle valve 2
73200-731 quick insert middle union 4
73200-732 PU pipe 1
73200-733 speed adjusting union 2
73200-734 __ quick insert straight union 2
73200-735 quick insert upright union T
73200-736 PU pipe 1
73200-737 o rubber ring 4
73200-738 oil free piston 2

AME International
2347 Circuit Way
Brooksville FL 34604

Phone 352-799-1111 Fax 352-799-1112

sales@ameintl.net






